Math 1513 - College Algebra
Discussion Board Week 7 - Due 2017.07.23

Use properties of logarithms and exponentials to solve for the variable in the equation. Do not use decimal approxi-
mations!

1. In(5z) —In(2z — 1) =1n(4)
9. Br—1p2 _ o201

3. log(z) = \/log()

4. logy(z+25) =1—1logy(2x —7)
5. In(x +25)=—-2—1n(2x —7)
6. 94r—5 _ 39327

v o5 _ 3. (%)—3x+7

8. (Au—bo—20+8 _ g,—3u+7

9. log(z)+log(3z—13)=1

10.  logy(z) + logy(3z —13) =2
11.  log(x?) = (log(x))?

12.  logs(logs(x)) =1

13. logy (log% (x))=-1

14. 42m—7 — 23m+5

15. 42077 = 3230+3



